(BUT NOT REQUIRED) TO PROVIOE A FLUSH

(5) INTERMEDIATE STILES FOR 16' WIDE_ DOOR REV Lall> DESCRIPTION
- 20 GA. MIN. END STILES ATTACHED TO DOOR
ATTACHED W/ TOG—L—LOC (TOP & B KIN TOG—L— a7 . _BARS: _
AND URETHANE ADHESIVE (ALONG nmm__ma .um_,ov.szx .unqw:mo v.r LOC SYSTEM 2 | FEB-07-97 REDRAWN; TESTED W/20 GA. U-BARS; +30/—32 TEST LOAD
OPTIONAL SSB GUSS OR - —— A 03 |2/1/2000 ADDED JAMB ATTACHMENT INFORMATION
\\ Ammum SECTION 8-8) _l. o4 |3/16/2000 ADDED LOW HEADROOM TRACK OPTION
N 7 — T I T o I I F— — = ) 05 | 11/13/2000 QTY.(1) WAS (2) FOR TRACK BOLTS
\ — I =
7 W7 2z #lI4 # |||t S
|
1
B 7| B e /A S | 0 \\ x LHR TOP BRACKET
— DOUBLE HORIZONTAL
—— == : TRACK
. f —T = e e —
T c } ] | HORIZONTAL TRACK SUPPORT BY
o . u DOUBLE TRACK - DOOR INSTALLER (TO Sum)
¢4
: c _ Low HEADROOM CPTION
o 1 %7,
¥ 1 %
o 13 GA. GALV. STEEL FLAG BRACKET.
; EACH FASTENED TO WOOD JAMB WITH
m — — == LOCK POSIION (3) 5/16°x1-5/8" WOOD LAG SCREWS.
: |~ (8O SIDES) NOTE:; DOUBLE TRACK
S R | ) TWO POINT LOCKING £ RACK_CONFIGURATION LOW HEADROOM IS
. e AVAILABLE AS AN OPTION
— T
1 4 DOOR
m ] HEIGHT | "
{ \ . [6=6" 70"
] : ' 2° GALV. STEEL TRACK, _ [7=0"[767]
— . \ MIN. TRACK THICKNESS: .060" [ 7= 18271
= e T e U 8-0" |88
L AY [
" PEI I LB o 2 €
_ / PER DOOR SECTION, EXCEPT o TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
BOTTOM SECTION WHICH Z (4) TRACK BRACKETS PER SIDE.
] (L 5 ‘ REQUIRES TWO U-BARS. &
T —T1 1 T ] N R i —_—m. @ﬂ LISTED ©
/.Sanz oF _|-.|- a /u _ 0K CR
OPTIONAL VENTS ——— OPTIONAL OUTSIOE KEYED LOCK POSMON B Be OR 2,000 PSI MiN, CONCRETE) OR
. : 1/4°x4" TAPCON SCREWS ON 21 CENTERS (2.000
) MAX. DOOR WIDTH = 16'=0 i : P51 MIN. CONCRETE). WASHERS INCLUDED WITH
NOTE 1 INSIDE_ELEVATIONS SLEEVE ANCHORS, 1° 0.D. MIN. WASHERS REQUIRED
mw@_ WITH TAPCONS. ANCHORS MAY BE COUNTERSUNK

DOORS UP TO 7'-0" HIGH CONSIST OF (4) SECTIONS h%ﬂomﬁzawizv

DOORS OVER 7'-0° HIGH CONSIST OF (5) 'SECTIONS ( FRONT c UV

(ERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS):
1/2°x3" LAG SCREWS ON 22—1/2° CENTERS. 1° 0.0.

UTE RETAINER

SECTION B8-B

COATING ON OUTSIDE SURFACE
MIN. WASHER REQUIRED. LAG SCREWS MAY BE COUNTERSUNK
(BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SSB GLASS OR OPTIONAL 10 SCREW
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. 1/8° ACRYUC LTE
MOLDED INSIDE

#8x3/4° PAN HEAD SCREW
(10 SCREWS PER UTE)

l_ = 27 THICK

25 GA. MIN. GALV. STEEL SKIN
WITH A BAKED-ON PRIMER,

12 GA. GALY. STEEL TOP
ROLLER BRACKET. EACH
BRACKET ATTACHED W/(4)
#14x5/8" SHEET METAL
SCREWS.

STILES W/(4) $14x5/8"

. 2 (@ 1/uwye Sar
X,

20 GA GALV. STEEL

MIN. YEILD STRENGTH: 50 KSI TAPPING SCREWS.

iy
_lu\uml_.u"_

1/4°x3/4° SELF TAPPING SCREWS
PER STILE LOCATION.

SECTION A-A (SIDE VIEW)
13 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (2) #14x5/8° SHEET METAL SCREWS.

ALUMINUM EXTRUSION
& VINYL WEATHERSTRIP.

14 GA, END HINGES
VEW "B

§14x5/8" SHEET METAL SCREWS
&
ﬁ 1/4°x3/4° SELF
0 TAPPING SCREWS.

®
™

REPORT#960

2x6 YELLOW PINE JAMB

6

»»»»»»
eeeeeeeeeee
e DT

WITH ONE 5/16°x1-5/8" LAG SCREW g

PER TRACK BRACKET.

12 GA. GALV. STEEL TRACK

2° GALV. STEEL TRACK FASTENED TO

BRACKETS.

TRACK ATTACHED TO EACH BRACKET
WITH ONE 1/4°x5/8" BOLT & NUT
OR TWO 1/4" DIA. RIVETS.

MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT
TRANSFER LOAD.

STOP MOULDING BY DOOR INSTALLER (TO SUIT)

20 GA. MIN. GALV. STEEL END STILE

20 GA. GALV. STEEL INTER. STILE
S
|
18 GA. GALV. STEEL CENTER HINGE

7/16° LD. ROUND PUSHNUT
ASTENER FASTENED YO INTER. STILES W/(4
Fi (ONE PER ROULER) §14x5/8" SHEET METAL )

14 GA. GALV. STEEL ROLLER HINGES

FASTENED TO END STILES EACH

W/
14x5/8" SHEET METAL SCREWS A
4) 1/4°x3/4° SELF TAPPING SCREWS PER END HINGE.

2° DIA. SHORT STEM, 10 BALL STEEL ROLLER.

JAMB CONFIGURATION

NOTE 2; THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS
SHALL BE THE RESPONSIBILTY OF THE PROFESSIONAL OF
RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE
WITH CURRENT BUILDING CODES FOR THE LOADS USTED ON

SECTION €=C

ORIGINAL DRAWINGS ARE SIGNED N BLUE
¢ WITH A RAISED SEAL (EMBOSS).

DESIGN ENGINEER: MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495

DESIGN LOADS: +20.0 PSF & -21.0 PSF

THIS DRAWING. TEST LOADS: +30.0 PSF & —32.0 PSF
CLOPAY BUILDING PRODUCTS COMPANY SCALE! PLOT: MAX. DOOR SIZE!
- 312 WALNUT STREET NONE , .
a ” NG, OH 45202 DATE: 16'2°W x 8'H

' (513) 381-4800 2/7/97 DESCRIPTION:

HPH Clopay Corporation All Rights Reserved. DRAWN BY: MODELS 73/75/84A/94; 16'W; +20,—21 DES. LOADS
mc__Q:J@ _UﬂOQ CO._.M Mwosnﬂmﬂ.aoan.mnou qonm%?n :M_dm: are Mzm sole wwmovnoﬂw e MWW DRAVING NUMBER: REV:
Company of the Clopay Corperation and moy not oe reprodic B 101308 05




APPROVED TRUSS ANCHOR BY BUILDER

PLUMB CUT OUERHANG
HEEL HEICHT = HEEL

BOTTOM = 80T
0P = TOP

N

|2
1}

TRUSS END DETRAIL

L 50'0"0 J
I© i
“ 77°0 16'0°0 ,_
5 = o
sMNc uoU U ,N%
_
ci i
3 (2) EJ a3 g
~
o 5 cJ5 o
0 R e
& Tigpe < LPLE S
z = o & 0 oo o
A.\\.o U U — C S NS ,N,/
N\
i w,/ _ _ > cJi
- :
cJ3 .L. // _ _ - cJ3
1
cJs = /_/ \ ! cJ5
G
B % “ WA
5 | _ :
/- i ! \
700 Ng _ 1 %4
_,/m 4) T08 ! w\. 54
- - A e e e | — = = I.8I 4.. .ﬂ
_I Au ) \
~ & =
78] ~
£ — [=]
> /] = 5
[/ i
EJ7A X
o
£8Pl N ilg 16
o3 "8 ANAN 9| E Hs— |
™ o 2
i Nl b 3 R
™M
04.
-~ ™ 2l ~— \m\ — J1 <
S 333 ]
7.0 Q m.u w ‘M\mo
[ 1320 S

HANGER SCHEDULE

7-HTU26

BEARING HEIGHT SCHEDULE

) 90

OVERHANG

2"
ROOF PITCH(S)

6/12

NOTES:

1) REFER T0 HID 91 (RECOMMENDATIONS FOR
HANDLING INSTALLATION AND TEMPORARY DRALING)
REFER T0 ENGINEERED DRAWINGS FOR PERMANENT
BRACING REQUIRED.

2) ALL TRUS5ES (INCLUDWNG TRUSSES UNDER
YALLEY FRA MUST BE COMPLETELY
DECXED O REFEK T0 DETAL Y109 FOR
ALTERNATE DRACING REQUIREMENTS.

3.) ALL YALLEYS ARE 10 DE CONVENTIONALLY
FRAMED DY OURDER

4) ALL TRUS5ES ARE DESIGNED FOR 7 o.c.
MAXIMLM SPACING. UNLESS OTHERWISE NOTED

%) ALL WALLS SHOWN ON PLACEMENT
PLAN ARE CONSIDERED 10 DE LOAD
DEARING, INLES OTHERTISE NOTED,

6.) 5742 TRUS5ES MUST DE INSTALLED
WITH THE TOP DENG LY.

1) ALL ROOF TRUSS HANGERS T0 DE SIMPSON
H526 UNLESS OTHERWISE NOTED, ALL
FLOOR TRUSS HANGERS TO DE SIMPSON
THA422 LNLESS OTHERWISE NOTED.

n.;m>§m€msgmr maa Gun
FURNISHED DY DUILDE:

SHOP DRAWING APPROVAL

THS LAYOUT 15 THE S0LE SOVRCE FOR FADRICATION OF
TRVS5ES AND YOS5 ALL PREYIOUS ASCHTECTUEAL OF OTHER
TRU545 LAYOUTS. TEVIEW AND APTROYAL OF THS LAYOUT WST
BE RECENVED BEFOTE ANY TRUS5ES WILL BE DULT. VERWY ALt
CONTIONG TO INSUTE AGAMST CHANGES THAT TRL RERRT
N EXTEA CHARGES T0 YOU.

Tsgonsind Dedvery buso

| i Wit

gBuilters

naFirstSource
Bunneill
PHONE: 804-437-3349 FAX: G04-437-3494

Jacksonville
PHONE: G04-772-6100 FAX: 804-772-1973

Lake City
PHONE: 904-79%-6894 FAX. G04-T35-797%

Sanford
PHONE: 407-322-0099 FAX: 407-322-3993

[BUILDER
MIKE ROBERTS
[(EGALADDRESS |
CROSSWINDS LOT 24
[MODEC —  [REVBORN |

CUSTOM scALE: NTS

_ 1oB T ——
12/4/07 |o.cannapY| L262673




